Iog(AY)

log AY/Y)

log (Y/AY)

LABJNDu2-Normhelligkeit I*
I* Ync_YW nc_loox

1*1 aganpu2 =[IN[A 1n+A2nY)I(A 20A0n)] (Yn/100<Y<=Y,c)
¥ \(316)=174/* ,(18)=396 [* y(90)=616

log[I* /I* ]=0, m,=0,33
L* =49, * ;=396
I* 0=615,73, Ay 1,5/ !

I*16=395,50, A =0

I* 3, 6‘_173 94 % =3¢ Anwendungs-|

bereich
1y,=18
1 Yw=90

LABJINDu2

Normfarbwertdifferenz

Yoc=Yw nc=100,

1% Aanpu2 =INI(A 10+A2aV)II(A 20A0n)] (Yn/100<Y<=Yy0)
dY=Agn(A1tAsnY)  A4=0,017, A,=0,0058
Aon,pes1,5, Ain a=1,0, siehe CIE 230:2019
AYp0=0,67, Apy=1,500, ¢=0,84

dY;4=0.15. A1=0.014, Agn 0,0048
dY3,6=0,04 Y,=18, dY=0,15 /,

*,=396 dY,=0,15 dY,/Y,=0, 0084

AY

Anwendungs-

bereich
Y,=18
Yy =90

Yn=3.6

LABJINDu2
. Normfarbwertemfindlichkeit
SHEYY Yoc=Yw - nc=100,

"1 AganDu2 =[IN[A 10+ A2 YVI(A 20A )] (Yn/100<Y<=Y,c)
AYIY=Ag A1 +AZYVY

(dY/Y},=0,0075, Ay 7L
(dY/Y)g=0'0084, A =0 ,Ag
(dY/Y}=0,0133 Y, 1& dY=0,15

0, O

~

log(dY/Y)=-2,07, rr\,-—O T~ ~

I* ;=396 dY,=0,15 dY,/Y,=0, o4y
1

=~==bareich

1
1Y,=18
Yw=90

Yn=3.6

LABJINDu2
Normfarbwertkontrast
Yoc=Yw =

=100,
"1 aganDu2 =[IN[A 10+ A2 Y)I(A 20A0n)] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dYy=132,52, Ay=1,500, 6=0,84
(Y/dY)g=117,67, A=0,014, A, =0,0048
(Y/dy! H5 42 =18, dY=0,15

C,=(Y/AY)

1* ;=396 dY,=0,15 Y,/dY,=117

Iog(Y/dY)=2,07, m,=0,13 - =~ ~
-
7 Anwendungs-|
bereich

Y,=18
1Y(y=90

e — 8
Yn=3.6

Anwendungs-

=
el

Iog(AY/AY )

log [AYY) I (AYIY),]

log [(Y/AY) I (YAY),]

LABJINDu?2 relative Normhelligkeit I*/I*
1%/1% Ync‘YW nc_loox
u

1* 1 ABaNDu2 =[IN[(A 17+A2nY)I(A 2nA0n)] (Y/100<Y<=Yc)
1* N(3,6)=174 * ,(18)=396 J*,,(90)=616

I* gyl =155, Ay=1,500, ¢=0,84

I*1¢/I* =1,00, A=0,014, A,;=0,0048

I*3 gI*=0,43,1*,=395,50 ;=18

log[I*/I* ,]=0, m,=0,33

L* =49, I* =396
Anwendungs-|
bereich

TIM=36 0 Yw=90
LABJNDuU2 relative
Normfarbwertdifferenz
Yne=Yw nc=100,

%L aganbuz =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,0)
AYIY,=AgfA 1 +AgYIdY,

dYeg/dY,=4,43, Ay=1,500, ¢=0,8
19dY,=1,00, A =0,014, A2= f 0
dYsdY,=0,31 Y, 218, dY=0.15

AY/AY,

o
I*,=396 dY,=0,15 dY,/Y,=0, 0084

LABJNDuZ relative

Normfarbwertempfindlichkeit
S/Su=OYMIAYY), yomy TS

L aganpuz =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,()
@YIYYAYY,=(AgAg Y)Y AYIYY]

(dY/Ypo/(GV/Y)=0,88, Ay=1,500, ¢=0,84
(dY/Y)g/(dYr1=1,00, A=0,014, A, =0,0
(dY/Y) d(dY/Y,=1,56 Y,~18 dY=0,15

048

log[(dY/YY(dY/Y),]=0, m=-0, 13 1
o= Anwendungs-|
I*,=396 dY,=0,15 dY,/Y,=0,0084 boramung

1y,=18

YN=3.6 | Yw=90

LABJINDuZ relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y . =y, =100,

L aganpuz =[IN[A 17+A2nY)V(A 20A0n)] (Ynd/100<Y<=Y,0)
(YIAYY(YIAY) =Y IYIAY )T oA gt Agr V) (Y/AY),

(Y/dYpo/(YIdY)=1,12, Ay=1,500, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A=0,014, A, =0,0048
(YIdY} g(Y/dY)=0,64 Y,=18 d\=0,15

T
1
1 bereich

1y,=18

Yy=90




